
Accesorios de fijación

Serie HR
Cilindros Hidráulicos ISO 6020/1

Patas
ISO MS2

Ø ØMM A ØB ØDA EE KK LH LS PJ S ØSB SS TS UH US XS Y

25
14 16

32 35 1/4"G
M12x1,25

32 56 77 20 9 142 63 83 92 58 5818 16 M12x1,25
18 M14x1,5

32
18 18

40 42 3/8"G
M14x1,5

38 67 89 25 11 163 75 99 110 64 6422 18 M14x1,5
22 M16x1,5

40
22 22

50 50 1/2"G
M16x1,5

43 78 97 25 11 183 90 122 120 71 7128 22 M16x1,5
28 M20x1,5

50
28 28

60 60 1/2"G
M20x1,5

52 95 111 32 14 199 105 145 145 72 7236 28 M20x1,5
36 M27x2

63
36 36

70 73 3/4"G
M27x2

62 116 117 32 18 211 120 170 180 82 8245 36 M27x2
45 M33x2

80
45 45

85 95 3/4"G
M33x2

70 130 134 40 22 236 135 199 210 91 9156 45 M33x2
56 M42x2

100
56 56

106 115 1"G
M42x2

82 158 162 50 26 293 160 240 250 108 10870 56 M42x2
63 M48x2

125
70 63

132 145 1"G
M48x2

100 192 174 56 33 321 195 295 300 121 12190 63 M48x2
85 M64x3

160
90 85

160 185 1 1/4"G
M64x3

119 238 191 60 33 364 240 321 350 143 143110 85 M64x3
95 M80x3

200
110 95

200 230 1 1/4"G
M80x3

145 285 224 72 39 447 295 455 415 190 190140 95 M80x3
112 M100x3


